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Intro Precalculus

Lesson 8.4 Hyperbolas

. ]
Unit 8 Not%

2. Write the equatlon of a hyperbola with a vertex at (3,

\
-5), centér/ at (3,—1) and an asymptote éﬁatlo

N
Horizontal Transverse Axis Vertical Transverse Axis
Coh)? k2 O=h? _ x=k)? _ 4
a2 pz a? b2 ﬁ
vertices: (h+ o ,k) and(\Wh—Q k) vertices: (h, K+OA) and (A, K+O-)
slope s 5/0 f
asymptotes: \
b : T
-a.0) (e.0) a_
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Examples:
5 5)2 -1)2 4
1. Given % - % = 1, identify the following:
a. Center: ( !'5)
A2
b. Asymptote Equations: / 3 N
B ) A \\ rd
c. Vertices: U[ 3 %1 (\ ,'7) 3 N o >
T
d. Transverse Axis Length: 4 N 1A
{ e. Conjugate Axis Length: éD . -
o ¢
f. Graph /’ o

with slope ;.

4. A hyperbola has asymptotes with slopes of 2/5 and —2
this hyperbola. em
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f. Graph Lé —
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